
Занятие №13. Контрольная работа. 

Вариант1.

№1 Решить уравнения:  а) 
4

15

123


xx
;   б) 4

2

1

3




xx

;    в)   1224
3

1
 xx ;

№2 Решить уравнения: а) 0510 2  xx ;  б) 1112 2  x  ;  в) 0532 2  xx ;  г)    023410  xx

№3 Решить уравнения:  а) 
1

7

3

2




 xx
 ;   б) 

xx

x 4

32



 

№4 Решить уравнение:  а) 0523 24  xx

Вариант 2.

№1 Решить уравнения:  а) 
2

3

84


xx
  ;  б) 

3

24

2

1 xx 



 ;  в)    6

2

7
25

2

1
 xx .

№2 Решить уравнения:  а) 0312 2  xx  ; б) 1418 2  x   ; в) 0275 2  xx ;  г)    04613  xx .

№3 Решить уравнения:  а) 
xx 


 3

4

5

6
   б) 

xx

x 2

62



 .

№4 Решить уравнение:  а) 0235 24  xx .

Вариант 3.

№1 Решить уравнения:  а) 3
25


xx

 ;   б) 
3

2

5

23 xx 



 ;  в)   12223

4

1
 xx .

№2 Решить уравнения:  а) 0102  xx ;  б) 0142 2 x  ;  в) 0253 2  xx  ; г)    0845  xx .

№3 Решить уравнения:  а) 
xx 


 6

4

1

5
   б) 

xx

x 1

32



 .

№4 Решить уравнение:  а) 016 24  xx .

Вариант 4.

 №1 Решить уравнения:  а) 1
34


xx

 ;   б) 
2

2
4

4 xx



 ;  в)    46

3

1
8

4

3
 xx .

№2 Решить уравнения:  а) 062  xx ;  б) 0613 2 x ;   в) 0372 2  xx ;  г)    0936  xx .

№3 Решить уравнения:  а) 
3

1

6

4




 xx
   б) 

xx

x 1

20



 .

№4 Решить уравнение:  а) 0352 24  xx .


